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401 & R D | B A FBE | L | 3 | T10| 12.250 | 12 12.200 3| 12.900 2] 13.350 1f 50.700 1
305 Mo B OF ME 4B KB |3 [ TO7| 12.700 11. 650 8| 13.250 1| 11.800 | 18[ 49.400 2
407 BT B K & | TH S J8& W | FRfE | 1| T06| 12.500 11. 600 9| 12.450 5| 12.650 5| 49. 200 3
402) A W BB E | MBS A F BE | L | 2 [T10| 12.250 | 12 12.600 2| 12.450 5| 11.750 | 19[ 49.050 4
308 = g H Mg B KB | 1 |To7| 11.850 | 26| 12.000 5| 12.700 4| 12.400 8 48.950 5
33| Kk A M| K B ¥ & | KBk 3 12. 450 8| 11.150 | 14| 12.250 8| 13.050 2 48.900 6
406| & T K oS 8 W | JeEE | 2 |To6| 12.200 | 15| 11.350 | 12| 11.900 | 10| 13.050 2|  48.500 7
104 1= BE £ R ERABMNY o WE | 2 | T02[ 12.750 4] 12.100 4] 10.650 | 29| 12.450 71 47.950 8
403 P B B AR MR B & PR | feE | 2 | T10|  12.400 9 11.500 | 11| 11.200 | 19| 12.500 6 47.600 9
314| — % A WM KB | 1 12. 800 3| 10.850 | 18| 12.450 5| 11.450 | 26| 47.550 | 10
301 #& A ZF B KB | 3 [T11| 11.700 | 33| 10.700 | 20| 12.900 2| 12.100 | 14| 47.400 | 11
302 & & 7= I KB | 2 |TI1]| 11.050 | 58| 13.100 1| 10.950 | 23| 12.300 off 47.400 | 11
408| W 7 B oK | T S Jé Wy | FeE | 1 | T06| 12.000 | 19| 11.800 7| 11.650 | 14| 11.750 | 19|| 47.200 | 13
303 - B A o= KB | 2 [TI1| 12.100 | 17| 11.050 | 16| 10.900 | 26| 13.050 2 47.100 | 14
07| K O B 4B KB | 2 [ TO7T| 12.400 9] 10.550 | 21| 11.850 | 11| 12.200 | 12| 47.000 | 15
409 B Z b b | @OE IR B | fE | 3 | T3] 13,050 1| 11.900 6] 9.500 | 44| 12.300 9| 46.750 | 16
306) @ 1 4 7 g 4B KB | 2 [To7| 11.950 | 21| 11.250 | 13| 11.150 | 20| 12.200 | 12| 46.550 | 17
404| A2 0 Jh M| BB B 4o ¥ BE | FEE | 1 | T10| 12.300 | 11| 11.050 | 16| 10.650 | 29| 12.300 9 46.300 | 18
105 = #y ¥ F RNV oI BE | 3 |T02| 12.550 6] 10.500 | 22 11.600 | 15| 11.600 | 25| 46.250 | 19
309 W R T ’OH KB | 2 | To4| 11.450 | 42| 11.100 | 15| 12.000 9] 11.300 | 29| 45.850 | 20
414 B £ AW W S Je i | e | 3 11.850 | 26| 10.200 | 27| 11.400 | 17| 11.900 | 17| 45.350 | 21
11| W A JE H & ’rOH KB | 1 [To4| 12.850 2| 10.250 | 26 11.050 | 22| 10.900 | 37| 45.050 | 22
02 /N JII B A EOR B | 3 |Tos| 11.950 | 21| 9.600 | 36| 11.350 | 18| 12.000 | 16| 44.900 | 23
106 /N K FH A BRI NY w7 BB |1 |T02| 11.500 | 41| 9.500 | 37| 11.500 | 16| 12.050 | 15| 44.550 | 24
4100 1 3 B & | ot I K B | FeEE | 3 | To3| 12.100 | 17| 9.400 | 39| 11.800 | 13| 11.100 | 33| 44.400 | 25
101 7§ &K £ AR 3= E K BB | 3 |TO5| 11.200 | 51| 11.600 9 10.950 | 23| 10.450 | 53| 44.200 | 26
103 I B Ah 2F E B | 1 |Tos| 12.250 | 12| 9.850 | 32| 10.850 | 27| 11.000 | 35| 43.950 | 27
200 WMo EEH| K B ¥ E | KBk 2 11.050 | 58| 10.750 | 19| 10.600 | 31| 11.200 | 31ff 43.600 | 28
318 N Mmooy | UK E F | KB 1 11.750 | 30| 9.250 | 44| 11.850 | 11| 10.550 | 48| 43.400 | 29
316 m A 1t W ok E KR 2 11.600 | 37| 8.950 | 47| 10.950 | 23| 11.700 | 22| 43.200 | 30
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416 3F &K FE WL | OS2 B o | fRE | 2 11.600 | 37| 10.300 | 25 10.700 | 28| 10.600 | 46 43.200 | 30
203| THH H &% | W& ¥ | 5E| 2 |T12| 11.550 | 40 9.800 | 34| 10.150 | 35| 11.650 | 23| 43.150 | 32
4150 B i B W | R B e PE | SoE | 1 12.000 | 19| 10.050 | 29| 9.750 | 40| 11.150 | 32| 42.950 | 33
502 = Il #E | &mE KM B | SR 3 | TI3| 11.300 | 46| 10.450 | 23| 10.250 | 33| 10.850 | 42| 42.850 | 34
207 % H HhxFHF Mot FHEB | 2 | TO8| 12.200 | 15| 9.300 | 41 9.100 | 51| 11.750 | 19| 42.350 | 35
208| B X% W Mmoot ES | 3 | To8| 11.950 | 21|  9.950 | 31| 9.200 | 48| 11.250 | 30| 42.350 | 35
319 B W & | W ORK FE F KKk 2 10.750 | 68| 10.450 | 23| 9.350 | 47| 11.400 | 28] 41.950 | 37
413 76 M B | TH O B O | R 1 11.850 | 26| 10.200 | 27| 9.150 | 49| 10.450 | 53| 41.650 | 38
202 B % X | W& e ¥ Br | SHE 2 |T12| 11.200 | 51| 9.100 | 46| 11.150 | 20 10.100 | 58| 41.550 | 39
419) F B FENEF | E B L B | e | 1 11.800 | 29| 8.550 | 52[ 9.900 | 38| 11.100 | 33f 41.350 | 40
4120 1 B AR FE | O I KR B | fEE | 2 | T03| 11.600 | 37|  9.850 | 32| 9.000 | 55| 10.650 | 45| 41.100 | 41
A7 &% H BHER| OB OF L | 3 11.900 | 24| 10.050 | 29| 9.100 | 51| 9.650 | 67| 40.700 | 42
418 FE H M| R BE PR | FuE | 1 11.750 | 30| 9.150 | 45| 8.850 | 57| 10.900 | 37 40.650 | 43
36| dr B BRMEA | U R E SF | KBk 3 11.750 | 30| 7.650 | 62| 9.700 | 41| 11.450 | 26| 40.550 | 44
317 A T 7 4B KB | 1 11.700 | 33| 7.550 | 65| 9.450 | 45| 11.650 | 23| 40.350 | 45
201 #F O | B REER 2 |T12| 11.400 | 44| 7.800 | 60| 9.900 | 38| 10.950 | 36| 40.050 | 46
4200 OF R OMh B TH S JB W | FeE | 2 11.350 | 45| 8.650 | 50| 8.900 | 56 10.900 | 37| 39.800 | 47
321) g KA g = KB | 3 11.650 | 36| 7.650 | 62| 10.150 | 35| 10.300 | 57| 39.750 | 48
421 SE [ O 7o A | @b E IR M| B3 11.450 | 42| 8.600 | 51| 9.650 | 43| 9.850 | 62 39.550 | 49
22| AN E | R B P E | KBk L 10.800 | 66| 9.350 | 40| 8.800 | 59| 10.550 | 48| 39.500 | 50
207 Iy OB B | B k| A3 11.250 | 47| 8.800 | 49| 9.950 | 37| 9.200 | 72| 39.200 | 51
205| B W Ok Mmoot HOES | 1 | TO8| 11.100 | 56| 9.300 | 41| 8.100 | 68| 10.550 | 48| 39.050 | 52
422 & b AE A& ®E I OK M| e | 1 11.200 | 51| 9.300 | 41| 7.650 | 76 10.800 | 43| 38.950 | 53
206 K 0 % Mo St HUES | 2 |TO8| 11.100 | 56| 8.150 | 57| 9.100 | 51| 10.450 | 53| 38.800 | 54
23| R O 0| B R B A | 2 11.000 | 60| 7.450 | 67| 10.300 | 32| 9.850 | 62f 38.600 | 55
2| A FRAK| RAIKKRIRME | K| 2 10.150 | 70| 8.250 | 55| 9.700 | 41| 10.350 | 56| 38.450 | 56
603| # o | B o L ¥ R#al| 2 | T14| 11.250 | 47| 8.900 | 48 8.400 | 64| 9.700 | 66| 38.250 | 57
606 /)N k& SR & | Fn oAk (LopE FE | Anakil) 2 10.950 | 61| 8.450 | 53| 8.850 | 57 .850 | 62 38.100 | 58
204 K 1B OE W | P& A ¥ B | RES| 3 |T12| 11.700 | 33|  5.350 | 92| 10.200 | 34| 10.750 | 44f 38.000 | 59
211 1 A k¥ CI. HUES | 3 | TOL| 10.850 | 64| 7.550 | 65| 8.450 | 62| 10.900 | 37|| 37.750 | 60
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209 /N TH % B M B FES| 1 |TO1| 10.800 | 66| 9.500 | 37 6.750 | 79| 10.500 | 51ff 37.550 | 61
605 H & 4 B | Fn @k W oAb | FeEkil] 2 11.250 | 47| 6.400 | 87| 8.400 | 64| 10.900 | 37| 36.950 | 62
503 L OMWE & | BB KM B | &SE| 2 |T13] 11.200 | 51| 8.250 | 55| 8.650 | 61| 8.750 | 75| 36.850 | 63
215 1= ¥ A5 A | B R B R 2 10.950 | 61| 8.300 | 54| 7.800 | 72| 9.450 | 69| 36.500 | 64
210) Ik 7 b IE G HEE 1 | To1| 11.250 | 47| 7.150 | 73| 8.000 | 69| 10.050 | 59| 36.450 | 65
607 &2 H H | Fn &k W A | FeEkil] 3 10.900 | 63| 7.700 | 61| 8.450 | 62| 9.300 | 71| 36.350 | 66
216 #k KR ¥ W | K Lk F B RKH | 2 9.200 | 79| 7.450 | 67| 9.150 | 49| 10.500 | 51 36.300 | 67
218| F W T B | kR RES L 9.950 | 74| 7.600 | 64| 9.100 | 51| 9.500 | 68| 36.150 | 68
608 & YW ME | Aok (L T F [ Fadkil] 3 10.150 | 70| 6.900 | 77| 8.700 | 60| 9.850 | 62 35.600 | 69
219 £ b K| & A F | RE | 2 10.300 | 69| 7.900 | 59| 7.700 | 74| 9.450 | 69| 35.350 | 70
423 B [ 2% & | @b E IR M| = 2 11.900 | 24| 4.400 | 94| 7.700 | 74| 10.600 | 46| 34.600 | 71
505 K B 7 e fE e Z=E | 3 |T09| 10.850 | 64| 7.350 | 71 8.150 | 66| 7.950 | 79| 34.300 | 72
601 7% & fE B | W W T ¥ || 3 |T14| 11.200 | 51| 6.750 | 80| 6.250 | 81| 10.050 | 59| 34.250 | 73
602] ¥ X H§ M o T 3 || 3 [T14| 10.150 | 70| 6.150 | 88| 7.950 | 71| 9.100 | 74 33.350 | 74
220 BE @ F K| R E o 1KH | 2 9.550 | 76| 6.700 | 83| 8.150 | 66| 8.500 | 77| 32.900 | 75
501 2 F B &K | BB KMB| &SR 3|T13| 8700 | 8| 9.700 | 35| 7.800 | 72| 6.650 | 87| 32.850 | 76
108 # W e & | FoOoHE RO WHE | 1 9.350 | 78| 5.500 | 91| 7.600 | 77| 10.050 | 59| 32.500 | 77
214 K% ONFE | W E A | FE| 1 10.000 | 73| 6.650 | 84| 8.000 | 69| 7.400 | 82| 32.050 | 78
203| B b H oE | | & 4 | 5E| 2 9.150 | 81| 7.100 | 74| 7.000 | 78| 7.850 | 81 31.100 | 79
609 & A ¥ F | oAk b ¥ Akl 2 9.000 | 82| 6.500 | 85| 6.450 | 80| 7.950 | 79| 29.900 | 80
202| 5F # — 1t MW & | 5 3 9.500 | 77| 6.750 | 80| 4.450 | 90| 8.600 | 76] 29.300 | 81
506 & W T = — % xR | 3 [ T09 8.800 | 85| 7.400 | 69| 5.900 | 85| 7.150 | 85| 29.250 | 82
518| &H & B A M FR| 1 9.000 | 82| 7.000 | 76| 5.950 | 83| 7.250 | 83| 29.200 | 83
507 #* H 2 — % ZZE | 1 |T09| 8.750 | 86| 7.100 | 74| 5.650 | 86| 7.200 | 84 28.700 | 84
221 i WL E | B oM ZE Al | RER | 3 8.900 | 84| 6.500 | 85| 5.950 | 83| 7.150 | 85| 28.500 | 85
513 = 3 = H =R |1 8.450 | 92 6.850 | 78| 4.700 | 88 8.100 | 78| 28.100 | 86
109 JIl v6 Bk % X B W | 3 9.650 | 75| 7.250 | 72| 5.450 | 87| 5.600 | 90] 27.950 | 87
411 o [ B | O I K B | feE | 3 | T3 0.000 | 99| 8.000 | 58| 9.400 | 46| 9.150 | 73| 26.550 | 88
508 Wil & M B - 5 Z5E |1 |T09| 8.150 | 97| 5.800 | 89| 6.150 | 82| 5.350 | 93| 25.450 | 89
509| S R B — % RE |2 8.300 | 94| 6.800 | 79| 4.350 | 91| 5.600 | 90] 25.050 | 90
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515 itk O 1 & H =R | 3 8.500 | 91| 7.400 | 69| 3.250 | 96| 5.300 | 95[ 24.450 | 91
510/ b @ & A — % KE |3 8.550 | 90| 6.750 | 80| 3.250 | 96| 5.650 | 89| 24.200 | 92
511 ik i # e & & H ZR |3 9.200 | 79| 5.700 | 90| 3.600 | 93] 5.450 | 92f 23.950 | 93
514 & & F F = SR |3 8.300 | 94| 3.900 | 97| 3.350 | 95| 6.650 | 87| 22.200 | 94
512 i o PR R & H =R |3 8.600 | 89| 5.300 | 93| 3.450 | 94| 3.900 | 98] 21.250 | 95
516/ i © P o H =R |3 8.200 | 96| 3.150 | 99| 4.500 | 89| 5.150 | 96] 21.000 | 96
107) 1 J/ s fE | Z R AN A | RE | 2 8.750 | 86| 4.000 | 96| 2.800 | 98| 4.950 | 97| 20.500 | 97
517 M k& B &=mOH BR| 2 7.600 | 98| 4.200 | 95| 3.650 | 92| 3.750 | 99| 19.200 | 98
519] # 1 X & H mE |3 8.450 | 92| 3.300 | 98] 1.650 | 99| 5.350 | 93] 18.750 | 99
310 = #m & ’OH KB | 1 [To4| 0.000 | 99| 0.000 | 100] 0.000 | 100] 0.000 | 100f 0.000 | 100
604| W5 B sk A | W 8 L ¥ [Ffa¥al| 1 | T14|  0.000 | 99|  0.000 | 100| 0.000 | 100  0.000 | 100| 0.000 | 100
405 & & O | OS8R | fEE | 3 | T06 X X X X

304 K A R O KB | 1 [Tl X X X X




